a0 70 Blg Data
2013

1 5390 117no

:1 moNw
N'90N 7w NVIN 'M72 WN KIN,0MNIM MM KIN X WK LAy (x) = 2% — 1 1wnnw 'R0
. 7w n'MmKn

x =1,...,10 10 Morris Counter-n T WK , Ay p(x) ,MLE-N IR 7" X
Apye(X) = argmax f(X:n)
n

AN NN RIN X = X; 727 120N NIy ,n 7W YN DR x; 75 11y R¥n? 7"y
N7 I x U AR7VNT7 D2 WTNN N2RNY IR DY DTIRN Axn 9N f(x; n) 7w wn

,0TIN 2¥nN Yw nnanonn NX non 11,2~ %D xp x I v 12w N ninanon
N (1 — 27%) X0 x R D750 K79 Npnn nnanon L 9IX MK Lf (x — 1;n— 1) i
NN NR'0NIZIN NNoRN NR 1727 .f (x; n — 1) NX 791D

f;n)=A-2"f(x;n—-1)+ 2‘("‘1)f(x —1;n—1)

NIN x = 1-7 yan7 '12'0n IR 12'RN 1IAY) N7NNNN 'KIN DX DWYTIY INIX 9012 17 D'
(1 prm

fx=1n=1)=1

VN DX D'7'TAN 11NIX) -1 N2 NIF X-7 11YAN 1AW 2¥N DN K7W NINaX7 17 0'wa 901
.(...7v mixn 0'7'nnn DNl 772 1Y NN 7% NN DYS x v

fx>nn)=0

NAIVWNN NIN7Y DW7 DIXPA N9 XA XN WAT 0D K7 Xan 270nv Nn X
I f(x;n) = fOgn+ 1) DN ,n = Ay 9 Y YD x e
DT IYANY NIWRIN Dol D 7ap P LA n) = f(gn) — f(n+1) =0

.(wNTN MLE-n INTI AINKRN) 21ITA7 7'0907 7511 D'ION X 11Ay DDA

1
pro) -7 NM¥YNoL¥YN NYPAONY 7271 x = 1112y x 7V DNXPITIRA NN

NNIX NDREx < x' 797 NAID1 NWON D N Ay = 1-n 700 DT KD D M P |
M 7Y NXPITI'RA NI DRNNAN Ay -0 DY X" Y D N Lx = x' iy I

D I N #E Ay 9 A LIRNOPN RINY Ay 1V D'PIINKRNA D 27 D'
k <n % nm1 mwon D N .n = Ay + 1y ooal f(x,n) < f(x, Aye) [
I

fx=1n) =

. 1Ay NNIX NI
{f(x; nN=>0=-2%f(n-1D+2"%Vf(x-1;n-1)
fsn+1) =0 =2%f(0x;n) + 2% Vf(x - 1;n)



a0 70 Blg Data

2013
=2>Al,n)=f;n+1)—f(x;n)
=1 -2 (fl;n) - fx;n-1))

+27 0D (fx—-Ln) - f(x—Ln-1))
=(1-2A(n—-1+2"CDVAx-1,n-1) |
Apye-1 INRN PLAC, 1 — 1) < 0 puxIn 7700 D 7271 (n 72v) n¥pImar'kn nnan 9"y I
PUAx —1,n—1) <0 D72 (x ) NXPITIRN NNIN 9"V NTIF X7 N¥7219 RN I
Axm) = fin+ 1)~ f(xin) <0 |
N7 lURIN W TV (X, n) 7w 0D DR AWNYT7 [N D'IoN x 1Y D 1IRxn € I
Ay p-0 INTL,MTIRZ 72V D71y |

X '72 112V DIN'oZAN NN KX¥N1I7"IN NXMUNN DX 'MNI'T NIDN NIYYAN] QW)

NIRXINN
x Ny Max-Likelihood
1 1 1

2 3 0.625

3 8 0.523670197

4 19  0.486695161

5 39  0.470369477

6 80  0.462512782

7 162  0.45869213

8 325 0.456812012

9 652  0.455876987

10 1306 0.45541105
1NN 7w a1 'R D190 DR 7710 — ('K ND01) NIIWNN 910 QXA TIpn

DA DDWHNNXRIAYNY A
(a) Bias(fiypg,n) = E[fiy ] —n
(b) MSE(fiype,n) = E[(Ayre — n)z]
= E[fjye — 2 Appe -1+ n?] = E[Af ] — 2n - E[Aye] +n?
(c) NRMSE (fly5,m) = YEMLE)
(d) CV[a] = % ;o =4/VI[A]

~ 3 3 1 1 "
V] = Enz +on+1- (n+1)?% = Enz — 27 YA 'R N 9"y

B
>0 = E(n —n)

a1 p = E[AA] = n nom 'm72 yyn Ny i




a0 70 Blg Data

2013
n BiaS(ﬁMLE, n) MSE(ﬁMLE) NRMSE(ﬁMLE) CV[ﬁ]
0.0 0.0 0.0 0.0
0.0 1.0 0.5 0.5
0.125 4.125 0.677003200386 0.57735026919
0.328125 9.484375 0.769917812172 0.612372435696
0.580078125 16.966796875  0.823815437462 0.632455532034

0.862091064453 26.4124450684 0.856550657975 0.645497224368
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147153985128  50.6706994362 0.889791929999 0.661437827766
1.78563172738  65.320132343  0.898009680878 0.666666666667
0 2.10075975438  81.5989877533 0.903321580354 0.67082039325
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:("2-1 'R 2°2°wo 1 120 7PRwY python 7p) 'S noo:

MAX_X = 10 # the maximum value for x
MAX_N = 10 # the maximum value for n (for computing section B)
# Using dynamic programing we compute each value of f(x,n) once and store it inside this table:
table = [[] for x in xrange(MAX_X)]
# a row in the table holds all values of possibilities for where x is the (row-index + 1)
# the index inside the row corresponds to value of n.
def f(x, n):

# This function retrives the value if previously computed, else computes it first.

# f(x;n) = table[x-1][n-1]

if len(table[x-1]) < n:

fill_row(x-1, n)
return table[x-1][n-1]

def compute(x, n):

# This function computes the value of f(x,n).
if x == 1 and n == 1:

f_xn = 1.0
elif x > n:

f_xn
else:

f_xn (1 - 2**(-x)) * f(x, n - 1)

if x > 1:

f_xn += 2%¥¥(-(x - 1)) * f(x - 1, n - 1)

return f_xn

nm s n

0.0

def fill_row(i, max_n = -1):
# This function fills the row (which corresponds to a value of x) until we either
# reach the maximum likelihood for that value of x or until we reach max_n (inorder
# to calculate another value: f(x, max_n) which is needed)

x=1+1 # the value of x
last = @ # saves the last value
value = last # saves the current value
n = len(table[i]) + 1 # the start n (the first unyet calculated value)
while not (last > value or ((max_n != -1) and (n > max_n))):
last = value # update the last value

value = compute(x, n) # get the computed value for f(x, n)
table[i].append(value) # save the value in the table
n=n+1 # increase the value of n

def fill_table(max_x = MAX_X):
# This function fills the entire table up to the value of x = max_x
for i in xrange(max_x):
fill_row(i)

def print_sum():

# prints the outcome of the run

print "x\tn_mle\tMax-Likelihood"

print "-" * 3@

n_mle = []

for i in xrange(MAX_X):
max_value = max(table[i])
n_value = table[i].index(max(table[i])) + 1
print i+1, "\t", n_value, "\t", max_value
n_mle.append(n_value)

print ""

print "n\ta\tb\tc\td"

print "-" * 40
for j in xrange(MAX_N):
n=73j+1
col = [f(i+1, n) for i in xrange(n)]
E_mle = sum([n_mle[i] * p for i, p in enumerate(col)])

E_mle2 = sum([n_mle[i] ** 2 * p for i, p in enumerate(col)])
a =Emle - n
b = E_mle2 - 2 * n * E_mle + n ** 2
c=b**0.5/n
d=((n-1)/ (2.0 * n)) ** 0.5
pr‘int n, "\t": a, "\t": b) "\t") c, "\t": d
print ""

def main():
fill_table()
print_sum()

if __name__ ==
main()
import os
os.system("pause™)

__main__":



